BHXE - aRRAUSoXY F#%H. 11858

£ Hi 48 58 6A 7A 8A 9A 10A 11AR Raob
16 =1 ZHC 101010/ 6 | 8 10| 7 61 P
24 ZIE BF 712 7|10/ 8 34 p
3L ME AR 9 | 3|9 10 31P
44 MR 2F 5 9 3 2 | 3| 8 30 P
561 X% XHF 4 | 8 2 | 9| 6 29 P
6 {3t & k& 3 5 7 9 24 P
T EBE = 2 7 9 | 1 19P
84 fEH BEF 8 4 | 5 17P
9fr /MM OXF 6 | 4| 3 2 15 P
104 T VA 6 | 8 14 P
N4 TAA BF 5 2 | 5 12 P
1246 HII BF 1 | 10 11P
1361 FF BF 3 8 1P
144 dI8 & 7| 4 1P
154 @& BETF 6 | 4 10P
164 iR EF 4 | 6 10P
1746 FEE A 10 10P
184  Fl F=F 1 9 10 P
1941 AR BF 1 8 9P
204z BHE ¥ 9 9P

HORRAL M E RO (ERE B IR EF RIS !

O RAU DA
R~z =10P ®6hi = 5P
E2h = 9P B = 4P
3t = 8P ®af = 3P
FTAGL = TP ®Eofir = 2P
56 = 6P F106L = 1P

XAPARRIAT7ZDHEEIX2RE > FE# L A= KB IEHL{F T
XRRA DB E (T ER LG KBDIRELHT T



BHXE - aRRAUSoXY F#%H. 11858

£ w 48 58 6RA 7B 8A 9A 10A 11A RLUb
214 HF BF 2 7 9P
221 TR WY 7 7P
2344 RF X 4 2 6P
24i Ik AEF 6 6 P
2541 & EF 6 6 P
26z  EnK #EF 5 5P
274 HWME TAF 4 | 5 5P
2841 EIIH EF 5 5P
29 tkERK FF 4 4P
30 {i AfE 3> 3 3P
31 HEFE FEF 3 3P
24 EA ERKF 1 1 2 P
B TR OWF 1 1P
M FHER BF 1 1P

HORRAL M E RO (ERE B IR EF RIS !

O RAU DA
R~z =10P ®6hi = 5P
E2h = 9P B = 4P
3t = 8P ®af = 3P
FTAGL = TP ®Eofir = 2P
56 = 6P F106L = 1P

XAPARRIAT7ZDHEEIX2RE > FE# L A= KB IEHL{F T
XRRA DB E (T ER LG KBDIRELHT T



